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10.15 S5 fopam ST@ | 10.15 ST & 10.30 &S b BT hddd II-93 ol Uell 3T 39
3rafy & G 9 IT-YIEIHT W HIg IR & for@ |
15 minute time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the

students will read the question paper only and will not write any answer on the
answer-book during this period.

59/4/2 Page 1 of 23 P.T.O.



e

T 4597 :
HETICTRET 145911 %1 agd GIae] & 9igq 3K 371 dxed] & Yo Iy :

(1)
(ii)
(iii)
(iv)
(v)

(vi)
(vii)

(viii)

(ix)

§7 J97-97 4 30 597 & | @t 3o7 srfAard & |

T8 Jo7-97 el @Us] 4 [dyifsid 8- @ue &, @&, M, 09 & /

GUE & 4 J77 &7 1 § 12 7% Fglascdid (MCQ) HR & Uah-Ua 3% & J97 & |
GUg | 4 J97 T&7 13 @ 18 T% -3 (SA) ¥BR & -3t 37H & T97 & |
Yk J9T T IR 50 F5G] @ 371 T8 5T =0T |

e T 97 T 19 @ 28 7% 53707 (LA) ¥R 3 GR-9R 37 & J97 5 /
e J97 &7 IR 100 53] G 37fea 787 817 F1isq |

GUE g 4 J97 G&IT 24 T 26 TF TR, HigTd ol THITT-STIRT F97 & |

QU & 7 97 G©gr 27 @ 30 7% IH-3TT (LA) IPR & Dg-Dg AHHl & Fo7 & |
e J97 &7 IR 170 Y53] G 37fea 787 817 Fiisq |

Fo7-97 § HI3 GHY [T T8 & | TeT FS Jo 7 AR faheq & JIaeT e
T 8 | 37§99 § & acT Uek &1 Y97 HT I [7@T 7T |

5T SR, TRIF GUE UF JoHI & Tr9, T8 SavaE §, e e 1w § |

«usg <h

o7 G&T 1 & 12 7% Tglasedid (MCQ) J#R & Uah-Ud 3% & Y97 5 |/ 12x1=12

1.
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fafafRaa 4 9 -8 S Sagar & e e U fawE’ ¥ getia goHifdes

faofat & s & = € 2

(i) 9T @t dgEd ¥ T vRa & fowm w1 1 onfde walg IR
T STeR-371ffeh = ST gHT =Ry |

i) 39 9 W o ggufd st 5 I8 9men saiiE, et 3 framt

T TE BIST AT Fehal |

(iii) had FEHR I AWIGa fasm gHfvad & 4 Teweyul g
Bl

(iv) |l TSHITdeh Sl 8 FAT8-HIORT SR AT hl TR JIEA HET &
a1 |

& foeheq g :
(a) (i), (i) 3 (iid) (b) (1), (ii) 3R (iv)
(c) (i1), (1i1) 3R (1v) (d) (1), (i11) 3R (iv)
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General Instructions :

Read the following instructions very carefully and strictly follow them :

(i) This question paper contains 30 questions. All questions are compulsory.

(it)  This question paper is divided into five sections — Section A, B, C, D and E.

(iti) In Section A — Questions no. 1 to 12 are Multiple Choice (MCQ) type
questions, carrying 1 mark each.

(iv) In Section B — Questions no. 13 to 18 are Short Answer (SA) type questions,
carrying 2 marks each. Answers to these questions should not exceed 50 words
each.

(v)  In Section C - Questions no. 19 to 23 are Long Answer (LA) type questions,
carrying 4 marks each. Answers to these questions should not exceed 100 words
each.

(vi) In Section D — Questions no. 24 to 26 are Passage, Cartoon and Map-based
questions.

(vii) In Section E — Questions no. 27 to 30 are Long Answer (LA) type questions,
carrying 6 marks each. Answers to these questions should not exceed 170 words
each.

(viii) There is no overall choice in the question paper. However, an internal choice
has been provided in few questions. Only one of the choices in such questions
has to be attempted.

(ix) In addition to this, separate instructions are given with each section and
question, wherever necessary.

SECTION A

Questions no. 1 to 12 are Multiple Choice (MCQ) type questions, carrying

1 mark each. 12x1=12

1. Which of these statements about the political decisions taken after

59/4/2

independence related to development are correct ?

(1) Almost everyone agreed that the development of India should
mean both economic growth and social-economic justice.

(ii) It was also agreed that this matter cannot be left to businessmen,
industrialists and farmers.

(iii)  Only the government should play a key role to ensure growth with

justice.
(iv) It was necessary to consult all political parties and get public
approval.
Choose the correct option :
(a) (1), (i1) and (iii) (b) (), (i1) and (iv)
(c) (i1), (iii) and (iv) (d (@), (ii1) and (iv)
Page 3 of 23 P.T.O.
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2. fedia qaedfa oMt & 91§ Fefafgd § 9 991 ea 98 787 3 2
(a) SE1 WHIG $ Y@ SUNYCAT 5 IR fopam o |
(b)  TEH 9T IT o foepr W IR feam m |

(¢c) 3Yeh! THIEf 1956 — 61 oft |
(d)  3Heh! SR a1 Tfd B G=EHTHS dcaATd hid hi off |

3. fTrfaRea @ @ #F Ui e o e v @aw & ?

(a) JIs
(b)  Bfrm =1 fAHio
(c)  3ATdehdIe

(@) Al TeaSl (M)

4.  9Wa 1 g fifa & 91 °#, FEfaied s 8 9 98 seF/HeEi & g
(i) WA ST T HRIHH 1940 % T < 31 H I[E {3l 77 T |

(i) &% Y] RER % faare 9 R 3= HEwIkedl ¥ SAYS I
fefiet & foe | fan |

(iii) ATV STTIR Al i T o T ARG 39 THSH T AT Tfehd 36oh

ATaaerTela faear hl IS & HROT, YR i 9T &G deeqT IS |

TE frepey 9w
(@) @) 3 Gi)
(b) had (1)
(¢)  <had (iii)

@ @), (i) AR (i)
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Which one of the following statements about the Second Five Year Plan is
not correct ?
(a) It was drafted by some leading industrialists.
(b) It stressed on the development of heavy industries.

(c) Its time period was 1956 — 61.

(d) It wanted to bring about quick structural transformation.

Which among the following is a threat to non-traditional security ?
(a) War

(b)  Manufacturing of weapons

(c) Terrorism

(d) Internal disturbances

From the following statements about India’s Nuclear Policy, choose the

correct statement(s) :
(1) India’s nuclear programme was started in the late 1940s.

(i1) Nehru was against nuclear weapons and pleaded with the

superpowers for comprehensive nuclear disarmament.

(i11)) India was in support of the NPT at the time of its adoption but its

indefinite expansion plan forced India to change its stand.

Choose the correct option :
(a) (1) and (ii)

(b)  Only (i)

(¢)  Only (iii)

(d) (1), 11 and (iii)

Page 5 of 23 P.T.O.
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= @ wed few U & — 598 s W sfieeH (A)H?ﬂ H{ﬁohlwl (R) g1
W%mw%|g$wﬁwﬁqﬁqaﬁ%ﬁmmﬁwﬁ
(a), (b), (c) 3R () ® & I o &9 H Hal feheq T |
ST (A) : TIGEd Yot el 8§ T 3 gamEe 5= 15 oft, fSaa
3eh AT I STeH 98d HhidH &l T |
FRU(R):  Tgdia fowa Ig & w1 difera @91 v wgm vt 9 7 o |
(a) AMMHAT (A) 3T SR (R) T T&l & 3 RO (R), AMMHRAT (A) I
& ST KT B | ‘ ‘
(b)  ANHAT (A) N R (R) HI FEl §, Tg RO (R), AR (A) Hi
& AT FgT Rt g |
(c) R (A) U8l 8, 9Tq SR (R) TAd & |
d) 3R (A) Tod 8, T RO (R) T& # |
= @ woH few U & — 98 e w1 SAfRY (A) 99T € Sl Il (R) g
ﬁm%mw%|ﬁ$ﬁﬁwﬁ¢maﬁi§ﬁﬁqnﬁﬁrﬁ
(a), (b), (c) 3R () H & IW & &9 ¥ "l fIshey g |
SYHIT (A) : 1971 H WiehEd™ < €Y I§ % SN WRA H 95d Sef §& §
ot AT |

HRU(R):  UIhEdM  WRAE UIaedq1 Hl &fd qgar & foag wwomef
ﬁaﬁaﬁaﬁwaﬂﬁﬁl

(a) IRAT (A) I HRUT (R) T T&l 8 T RO (R), JRAT (A) I
&l ST il 8 |

(b)  3AfyReA (A) 3R HRU (R) IHI T& §, Tq BRI (R), 3HheH (A) hi
el IR 7T Al g |

(c) AR (A) F&l 7, T=q HRU (R) T4 & |

(d) AR (A) TAd 7, T RV (R) HaEl 3 |

1956 | form =it Aa1 4 W <A smfeentiten Im@m <kt 2

(a) BT BT (b) e forrm
() =% TR (d) <
fTeTRad sl SHICTHHATIHR A hifT

i) U ard | favrea

(i)  3fCq Tt gRI STHTdehTA sl AT LT
(iii)  dr=ET AW A

(iv) o SgTgL Al hl g 98 W Hyh

& foeheq 9T
(a) (@), (iv), (ii), (iii) (b) (1), (Av), (1), (iii)
() (D), (i1), (ii1), Gv) d)  @Gv), (), (iii), (i1)
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5. Two statements are given below — one labelled as Assertion (A) and the other
labelled as Reason (R). Read these statements carefully and choose the correct
option as the answer from the options (a), (b), (c) and (d) given below.
Assertion (A) : The Soviet system became very bureaucratic and
authoritarian, making life very difficult for its citizens.
Reason (R): The Soviet Union became a great power after the Second
World War.

(a) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of the Assertion (A).

(b)  Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of the Assertion (A).

(c) Assertion (A) is true, but Reason (R) is false.
(d)  Assertion (A) is false, but Reason (R) is true.

6. Two statements are given below — one labelled as Assertion (A) and the other
labelled as Reason (R). Read these statements carefully and choose the correct
option as the answer from the options (a), (b), (c) and (d) given below.
Assertion (A) : There was a large-scale migration of refugees into India

during the 1971 war with Pakistan.
Reason (R): Pakistan had planned the migration to disturb the Indian
economy.

(a) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of the Assertion (A).

(b) Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of the Assertion (A).

(c)  Assertion (A) is true, but Reason (R) is false.
(d)  Assertion (A) is false, but Reason (R) is true.

7. Which Chinese leader paid an official visit to India in 1956 ?

(a)  Hua Guofeng (b)  Zhao Ziyang
(c) Zhou Enlai (d) LiPeng
8. Arrange the following in chronological order :

i) Split in Congress Party

(ii))  Imposition of Emergency by Indira Gandhi

(iii)  Fifth General Elections

(iv) Appointment of Lal Bahadur Shastri as Prime Minister
Choose the correct option :

(@ (@), (), (ii), (ii1) (b) (i), (iv), (1), (iii)

(c) (1), (1), (ii1), (iv) (d)  Gv), @), (i), (i1)
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9. fmfiiRga 4 @ #1938 %A ‘ste & < IR 4 w8 757 & 2

(1)  3Eeh! YEST 2008 | T3 |

(i) I8 GoY IATahaTg I JGUU o fofeg o |

(i) I8 ATCIeH WLTER TR USR] & foeg o |

(iv) I8 o &9 G Alhad sl HIT o fo1w o |

gl forehed T -

(a) I (i) 3R (iv)

(b) e (iii) 3R (iv)

(¢ had (i) 3R (ii)

(d)  had (i) 3N (id)

10. TS o &= & Adt °# R YR W FEHTsT & AGH-YEH hi fshaT ol
form =9 | ST ST B 2
(a) Togama sgTelt & 39

(b) ¥ T
(c) TeuYd
@ Tt
11. 1964 H JATEATA H8& ! §cg o S1G HRA Sl TIHHAT T ST ?
(a)  STTSiteA TH
(b) AR ZETE
(0 35T e

(d) TSl SIETgL I

12. T=fafigd § @ w91 e 2w 9rh (289) o gee TF7 § 2

(a) HId
(b) 9@
(c) e
d =™
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9. Which of the following statements about the ‘Arab Spring’ are not
correct ?
(1) It began in 2008.
(i1))  The struggle was against terrorism and pollution.
(iii) It raised its voice against corruption and unemployment.
(iv) It was basically a demand for democracy.
Select the correct option :
(a)  (ii) and (iv) only
(b)  (ii1) and (iv) only
(c) (i) and (ii) only
(d) () and (iii) only

10. A process of exchanging information on defence matters between nations
on a regular basis is known as

(a)  Confidence-Building Measures
(b)  Arms Control
(c) Alliance

(d) Disarmament

11. Who became the Prime Minister of India after the death of Jawaharlal
Nehru in 1964 ?

(a) Jagjivan Ram
(b)  Morarji Desai
(c) Indira Gandhi
(d)  Lal Bahadur Shastri

12. Which one of the following countries is not a member of SAARC ?

(a) India

(b) Nepal

(c) Sri Lanka
(d)  China

59/4/2 Page 9 of 23 P.T.O.
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i <l Te-Fuetar st Hifa st =T fag w0 % foaw 8 @ ab A | 2xi1=2

IfE® o foheal g T Dl IATR HINT ST 39 GIh USCHH T Toh TEYol

faear s9d | 9x1=2
WL hi ITATEh HL&T hl g oM oh 0T I3 &f 39T HIST | 2x1=2
1977 % 3T A&l | gfeault TSl § g hHi S o fohrgl gl RO hl ST
i | 9x1=2
fifa s & fohegl Q1 ST 1 GedTehd hifT | 2x1=2
TSs-4" hl ThNI o U e IR o f&al ol gH™ING 3R Tehad T o1
AT & ? TS I | 2
Qug T

“Frel o 9N T gU WRA o THTEITA SENFER foem 5 <2 ol it 1 Th
3RSk HTeR o1 feam 2 1 99 & 987 | whis 9’ 380 S | 4x1=4

BT o N H TR | BT feohedl 31 sigarmdl w1 farerwr Hifsg | 2x2=4

“Syefiertor 7 TS T AR BT EAHAT dfveeh IUMRRIST i o fear 7 17
o o 94 H gl deh alfy | 2% 2=4

‘Gt TR T T AN B ? UH fohal IR < % 9 fofau R aw wke
e 8 | 2+2=4

1980 § 9N § U HEAE( TATE! o Fohral ol &F RN ohl 0@ HINT | 2x2=4
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SECTION B

Give any two arguments to justify India’s policy of Non-alignment. 2x1=2

Highlight any two functions of UNICEF which make it a significant part
of the United Nations. 2x1=2

Suggest any two measures to strengthen India’s traditional security.  2x1=2

Explain any two reasons for the victory of Congress in the Southern

States in the general election of 1977. 2x1=2
Evaluate any two functions of NITI Aayog. 2x1=2

Why is it necessary for coalition governments to accommodate and

aggregate variety of interests ? Explain. 2

SECTION C

“India’s impressive technological growth in recent years has made the
country an attractive partner of US.” Support the statement giving any

four examples. 4x1=4

Analyse any two developments of the recent years in Jammu and
Kashmir. 2x2=4

“Globalisation has shifted power from nation-states to global consumers.”

Support the statement with two arguments. 2x2=4

What is meant by ‘Veto Power’ ? Name any four countries that enjoy veto

power. 2+2=4

Examine any two main reasons which led to the mid-term elections in

India in 1980. 2x2=4

Page 11 of 23 P.T.O.
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24, WRA % fou U ToHiloew @IWEREE (I8 13 W) H IR TSA R
@), ®, © T O & g Afhd forar w7 | F9 & 1 AHHH & AR
W TS Sl ggaH T SR A0 IT-gfeaet & 39 |&l 9, TN 6 g
STl ht shH T o aHfas § fean man efuq s1am, fFefafea uwew &
STER o : 4x1=4

(i)  YRd % qd Usgafa .4 il 9 wrafoa 1= |

(i)  <hIIE o Adl . HETS 9 graf-ad T |

(i) o8 TS ST&T ¥ “ST T, T T JHA H1 AH gIA |

(iv) 1965 — 1967 H G« X G Hehe T FHAT HH Il TT |

TN <hl T8 SRRt | AHR |

. . TS k1 9
&1 Y 9T qafed 31er

1)

(i1)

(iii)

(iv)
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SECTION D

In the given political outline map of India (on page 15), four States
have been marked as @), B), © and D. Identify these States on the
basis of information given below and write their correct names in your
answer-book along with the respective serial number of the information
used and the concerned alphabets given in the map as per the following

format : 4x1=4
(1) The State related to V.V. Giri, the former President of India.
(ii1)  The State related to the Congress leader, K. Kamaraj.

(iii) The State from where the phrase, “Aya Ram, Gaya Ram”

originated.

(iv) The State which faced the most acute food crisis in 1965 — 1967.

Sr. no. of the | Concerned alphabet Name of the
information used in the map State

1)

(ii)

(iii)

(iv)

Page 14 of 23



For question no. 24
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Outline Map of India (Political)

£
N
L)
-
i
a L]
g
e
%
§
4]
.-‘, .
P
¢

Page 15 of 23

P.T.O.



G
Fig:  [AEliad Jv7 Faq grEETET GheidEt & 070 Jo7 G&r 24 & €A |
&/ dx1=4
(24.1) WRA o Y& Uegdfa .. Rt @ wwaf-aa a1 99 faRaw |
(24.2) HIUH & AT . IS Tl T A Arafed o 2

(24.3) 39 TSI 1 W fRaT S|l & Ufeg Suct, “oT ™, T | 1 SH
7T |

(24.4) 1965 — 67 H TorE TS =l Ta8 TR @™ e 1 HHAT HET ST
o7 ?

25. J= feu M R w1 omydes stewm difve st fAfaRed Al % @
IS L 4x 1=4

()  fen mn o fefaRaa o 9 e ou @ gvafaa 8 2

(a) TMR (b) JUTA
(¢c) AT d) it
Gi) feuw o fug ¥ <ol e wRes Aefafgd § § forg o o foog 8 2
(a) i=fehe (b)  SheTehdl JHATHS
(c) =Wl IHafEdd (d) @R JHard
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The following questions are for the Visually Impaired Candidates
only, in lieu of Q. No. 24. 4dx1=4
(24.1) Name the State related to the former President of India, V.V.
Giri.
(24.2) Name the State to which the Congress leader K. Kamaraj
belonged.
(24.3) Name the State from where the famous phrase, “Aya Ram, Gaya
Ram” originated.
(24.4) Which State faced the most acute food crisis in 1965 — 67 ?
Study the given picture and answer the questions that follow : 4x1=4
(1) The given picture belongs to which one of the following countries ?
(a) Myanmar (b) Nepal
(c) Bangladesh (d) SriLanka
(ii1)  The memorial shown in the picture is located at which one of the
following places ?
(a)  Shantiniketan (b) Calcutta University
(c) Burma University (d) Dhaka University
Page 17 of 23 P.T.O.



59/4/2

(iii)

(iv)

(a)
(c)

~
SEISISRSEIL

o & wrafeard wen fopm o o =fed g8 off 2
1950
1982

(b)
(d)

(b)
(d)

e

1975
1987

Y Tk o foTu swi-a1 8f e smHes Iaerht o1 ?

(a) SRS TIR®
(c)

. S UE.TH, SOIe

RHETICTRIT 97 @acT GIRaTiaa qiermferal & /g Jo7 &7 25 & €I |

g/

(25.1)

(25.2)

(25.3)

(25.4)

g o ToohrE W HEEdT 1 Td ST |id hiH-91 ¢ 7§ ?

(a)
(c)

Sf&ToT TR 1 98 o S 9’ W § S | R gen g, 7

(a)
(c)

YT g, ST

Hd

LISHE!
9T

(b)
(d)

(b)
(d)

&4
=i

AT
qrfentd™

4x1=4

qdl urfehea™ ®, fvadl difRea™ & Y % Raare A e

feh®reh Hiqcal | foham TRIT o 2

(a)
(b)
(c)
(d)

HTd el o1 ey fory <31 9 grafeg g 2

(a)
(c)

G IR A
G Yolie HIgHHe
S AT @H
. A T,

e
HRd

S
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(i11) When did the incident related to the picture happen ?

(a) 1950 (b) 1975
(c) 1982 (d) 1987

(iv) Which military ruler was the cause for this memorial ?
(a)  General Musharraf (b) Lt.General H.M. Ershad
(c) Ziaur Rahman (d) Zia-ul-Haq

Note: The following questions are for the Visually Impaired Candidates
only, in lieu of Q. No. 25. 4x1=4

(25.1) Which country is Bhutan’s biggest source of developmental aid ?
(a) USA (b) Russia
(c) India (d) China

(25.2) A landlocked country of South Asia is :
(a) Maldives (b) Bangladesh
(c) Nepal (d) Pakistan

(25.3) In East Pakistan, the popular struggle against the domination of
West Pakistan was led by which one of the following leaders ?

(a) Sheikh Mujibur Rahman
(b) Sheikh Mujib Mohammed
(¢) General Yahya khan

(d) Lt. General H.M. Ershad

(25.4) The Seven Party Alliance is related to which country ?
(a) Bhutan (b) Nepal

(¢) India (d) Pakistan
59/4/2 Page 19 of 23 P.T.O.
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B
fefifad T &1 eaFqds I=RA il 3R for U g & W
IS L 4x1=4

TRAT TS ATGIeH o = fg-tse fagra o favama 7€ sa o, 6 oft
faarem arfiiss smam W g3 A1 | g o 1 e fufEfie wid |
gaeHH & fadl <t @1 o forw fobam mm o | 7% gEeml & fore oter s
T i T T8 A0 ot |

()  TourH & g9 Fefalad @ | frm Ts9 =1 aififes Igadl & STUR ®
Tt fepam T o 2

(a) I I

(b) TSIA
(c) <A

(d) < 3R IR

i) Tr=fated & 9 o wae % WEs 7 G99 Y80 YA § T &dd &
S =T <6y oft ?

(a) &GUSIg
(b) TR

(c) S[Ie
(d) VR

(iii)  gieeq i 1 Tod i T TR o ?

(a) ‘fg-use fagm yeafaa s & fag

(b) Ueh AT TS UTfehEd™ S o foTw
(c) UIhEA™ T HAYM dIR i o oIy
(d) oufafe YRa 4 gaamEl @ f&dt 6t 1@ e o fog

Page 20 of 23



26.

59/4/2

35
B
Read the passage given below and answer the questions that follow :  4x1=4

The leaders of the Indian national struggle did not believe in the
two-nation theory. And yet, the partition on religious basis had taken
place. The Muslim League was formed to protect the interests of the
Muslims in colonial India. It was in the forefront of the demand for a

separate Muslim nation.

(1) At the time of partition, which one of the following States was

divided on the basis of religious majority ?
(a)  Uttar Pradesh

(b)  Gujarat

(c) Bengal

(d) Jammu and Kashmir

(i)  Which one of the following Princely States was the first to
announce to remain independent and not to join the Union of

India ?

(a) Hyderabad
(b)  Manipur
(c) Junagarh

(d) Travancore

(iii) Why was the Muslim League formed ?
(a) To propose ‘two-nation theory’
(b)  To form a new nation named Pakistan
(c) To prepare the constitution of Pakistan

(d)  To protect the interests of the Muslims in colonial India
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27.

28.

29.

30.

59/4/2

(iv)

(@)

o
faarsm & 9N 0 YA Y AN THR HT F1 TG AT ?
(a) g fordll off gea o favrem 78 =t off |
(b) g MM, AEWTE TR 98 61 T =gt off |

(c) o8 HId hl T o TS SHT ATaat off |
(d) 9% SIFRIAT o 919 HTfHeh YN T FagR =gl off |

Qs s

Ifvger ToHifa o foiu wewqul fohmgl O wafane awereft fa=reti =1

3R I | 3x2=
arera
fohrgl i STAUS YATOOid  3Telel Td 3% HaEwd ol 3R
HIY | 3% 2=
guehTeiE faea ® STTE™ shi fHehT w1 HedTehd It |
areran
“Sft srefearen § gUR o STavg oW § Al o1 oAfde guwi w1 @w
Tl et 1” 39 U9 & 9 § i3 di9 deh faiRgu | Sx2=
“ITTRIA 3hT hred” o 3291 T IR ol feagetwor hifs | 3+3=
arera
gifeaa g9 & faged & foredl 9 gfomt =1 fagasor i | Sx2=
2L I 3R TEU. IV % SNH 9™ TeHif § gY foheal 7 yq@
SeATdl sl IFANR HIfIT | 3x2=
arera
2004 % A YT FAMEl & I TR & ATTH TSHIfdH Al o oI
fohmal i ferrgati ot 3wl HaH(d i 3SR HIRT | Sx2=
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27.

28.

29.

30.

59/4/2

(iv)

(a)

(b)

(a)

(b)

(a)

(b)

(a)

(b)

OpO
]
What was the stand of the Interim Indian Government on
partition ?
(a) It was against partition.
(b) It wanted peace, harmony and equality of religion.

(c) It wanted India to become a Hindu nation.

(d) It was in favour of treating people on religious basis.

SECTION E

Highlight any three environmental concerns significant to global

politics. 3x2=
OR

Highlight any three international environmental movements and

their importance. Ix2=

Evaluate the role of ASEAN in the contemporary world.
OR

“In spite of the improvement in the Chinese economy, not everyone

in China has received the benefits of economic reforms.” Support

the statement with three arguments. 3x2=

Analyse the objectives of the “Operation Iraqi Freedom” and its

outcomes. 3+3=

OR

Analyse any three consequences of the collapse of the Soviet

Union. 3x2=

Highlight any three major developments that took place in Indian

politics during NDA III and NDA IV. 3Ix2=

OR

Highlight any three points of consensus that emerged among most

political parties in India after the Lok Sabha Elections, 2004. 3x2=
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